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sin'@ =y —cos'0
cos'9 =\ — sin'6

Sin‘9+cos‘9=\=>{

tan 6
tan@ .cot =\ =
cot @

P dgly 99 SOl 9 ¢ gaze Sl Jged

sin (¢ £ B) =sina cosf + cosa sinf

cos(a+B)=cosa cosf + sina sinfs

tan a ttan f _ cot f +cot a
\+tan a tan B cot @ cot B+

tan (a £ ) =

cot a cot f + \ + tan a tan
cot(a+pB) = FE\_ F
cot f £ cot a tan a £ tan
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. . . a+b —b
sin(a) + sin(b) = v sm% cosaT

. : . _a-b b
sin(a) — sin(b) = ¥ smaT cos%

b —b
cos(a) + cos(b) =¥ cos% cosaT

. a+b . a-b
cos(a) — cos(b) = —v smaY sin=

Y

sin (atbh)

tana +tanh = —————
Cos a Cos b

sin (bta)

+ —
cota + cotb ——
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sinacosb =-[sin(a + b) + sin(a — b)]

\
Y

sinasinb =-[cos(a —b) — cos(a + b)]

\
Y

cosacosb =-[cos(a—b) + cos(a+ b)]

\
Y
tan a +tan b

tana tanb =
cota +cotb

cota+cotbh

cota coth = ——
tan a +tan b
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. . Y tan a
sinYa =Y Sina cosa =

V+tan Y a

= Ycos'a—\

= \y—vysin'a

cosYa = cos"a — sin" a

\—tan' g

\+tan’
a

Ya —
\ et q +)

Y tan « Y

y—tanY«a cot ¢ —tan «

cot"a — cot @ —tan «a

Y cot Y

sinva =y sina — ¥ sin"«a

cosya =¥ cos'a — ¥ cos
a

v

¥ tan o afay

a

tanvya =

vcota — cot¥a

cotya =
y—vcot Y
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(sinx + cosx)" =\ +sinyx

cos'a = .

sin"a =

\ —COS Ya

\ 4+ CoS Ya

tan «a

tan' a =
\ + cos Ya

\ + cos Ya _

cot a

cot a

cot'a =
\ —cCoS Y

tan a

sinx+cosx=\/?sin(x+%) =\/;cos(x—%)

sinx —cosx =/ysin(x —=) = —+/ycos(x + =
¥ ¥

\ —tan « _

\+tan «

tana + cota

fana — cota

. \ :
SiIna cosa = T SinYa
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. y .
costa+sinfa=1)— TsmY Ya

cos' a —sinfa = cos va

. Y .
sina+cos"a =1 — TsmY Ya

sin” @ — cos” @ = cosYa (% sin" Ya — )

tan" @ —sin"a = tan" a.sin" «

cot"a —cos"a = cot" a.cos'

tan(a + b) —tana —tanb = tan(a + b) tanatanb

sin(a — B) sin(a + B) = cos' B —cos'a = sin"a — sin" f
cos(a — B) cos(a + B) = cos"a —sin*

sina sin(s+ — @) sin(s* + a) = /¢ sinva
cosa cos(s+ — a) cos(s+ + a) = '/¢ cosra

tan a tan(¢: — a) tan(s: + a) = tanra
cota cot(#+ — a) cot(s+ + @) = cotra

tanx + tan(x — ¢+) + tan(x + ) = vtanva
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sin (¢ =)

sina + Kcosa =
cos f3

f = ArctanK

cos (a ¥ )

cosa + Ksina = f = ArctanK

LB

k
+ tan‘ﬁ=k(vk+\)

sin (Y"* a)
cosa cosya = —-—

sin a \ —cos « a
= - = tan-—
\+cos a sin @ Y

if a'+,8=%n == tana +tanf = tana tanf —

if a+ﬂ=% == tana +tanf = Y — tana tanf
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=Ykn + «
=Ykn + (T — a)

: . X
sinx =sina = ( x

cosa = ( x=Yknt+«a

tanx =tana = ( x=kn+«a

cotx =cota = ( x=kn+a«a

sin" x = sin" a
Y Y
cos'x = cos' a

tan"x = tan' «

cot" x = cot" a/

sinx=+. = x=kn

=> x=km+
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sinx =Y => x=‘rkn+%

Yy =2 x =VYkm

.
-\ =3 x=Ykn+Tﬂ L x=Yk7r—%

—y => x=(Yk+ V)7

|sin x| = |cos x|

k k

sin™ x = cos™ x

sin (—a) = —sina
cos (—a) =+ cosa
tan (—a) = — tana
cot (—a) = — cota
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sin (m+a) =— sina
cos (m+a)=— cosa
tan (m+ a) = +tana
cot (m+a)=+cota

sin (m—a) =+ sina
cos (T—a)=— cosa
tan (m—a) = — tana
cot (m—a)=— cota

sin (Ykm+a) =+ sina
cos (Ykm+a) =+ cosa
tan (Ykm+ a) = + tana
cot (Ykm+a) =+ cota

sin (Ykm —a) = —sina
cos (Ykm —a) =+ cosa
tan (vkm —a) = — tana
cot (Ykm—a) =— cota
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y = sinx x = Arcsiny X € —%,%] , VE[-Y,]

Yy = COSX x = Arc cosy x €[, , VE[-Y,]

y =tanx x = Arctany xE(—E,E) , YER

Y Y
y = cotx x = Arc coty , YER
Arcsin(—x) = — Arcsinx
Arccos(—x) = m — Arccosx
Arctan(—x) = — Arctanx
Arc cot(—x) = m — Arccotx
Arcsin(sinx) = Arccos(cosx) = x
sin(Arcsinx) = cos(Arccosx) =x , |x| <\
tan(Arctanx) = cot(Arccotx) =x , x€R

sin(Arc cosx) = cos(Arcsinx) =V —x" ,  |x| <

tan(Arc cotx) = cot(Arctanx) = ; , XER
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Arcsinx = Arccosvy—x¥ , x| <

Arccosx = ArcsinvVT==x* , |x| <)

\
Arc cot7
Arctanx .

\
Arc tan -

L]

Arc cotx

T+ Arc tanz

Y

Arc cosx = Arctan -

Arctanx = Arc cos

3
vy +x©

X
Arcsinx = Arc tan
vy +x?’

. T
Arcsinx + Arccosx =

Y

Arctanx + Arccotx = ©

Y
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Arc cotx + Arc coti =

x+y

Arctanx + Arctany = Arc tan pu

Arctanx — Arctany = Arc tan .
\+ xy

if x+y+z=xyz = Arctanx + Arctany + Arctanz=. .t @

: lile gld G9luwols

—y < sin® ' x <y

yk—1

—\ < cos X<\

—oo < tanx < +
—o0 < cotx < 400
. < sinKx <

vk

< cosTtx <\
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—Va"+ b" < asinx+ b cosx <Va' + b’
b<asin"0+b<a+b , a>-
b<acos'0+b<a+b , a>.
a+b<asin'0+b<a , a<.
a+b<acos'6+b<a , a<-

—(lal + |b]) € asinx + bcosy < (|la| + |b]|)
VP <sin®"x+cosx <y ,neN

—y <sin™x+cos™"M'x <y ,nenN
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sina~ «
sin a ~ a™
Arcsina~ «
tana ~ a
tan” a ~ a

Arctana ~ «

a
\—Cos"a~nT

Y
Cos"a—cosma~(m—n)aT

) a
a—Sina ~ 7

) a”
Arcsina — a ~ "
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a,\”

tana—a~7

v

a
a— Arctana ~ "

.
. a
Arcsina — Arctana ~ "

sinu == y' =u cosu

= —u sinu
y =tanu =u (v + tan" u)

cotu ==y =—u (V + cot'u)

sin"u == y =m.u.cosu .sin™ " u

cos™ u = —m.u.sinu .cos™ ' u
=m.u.()+tan"u).tan™ " u
=—m.u.()+cot'u).cot™ " u
u'.secu.tanu

= —u.cscu.cotu
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y =Arctanu = = y' =

v+ u’

y = Arccotu == y' ==
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